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PART A
GENERAL ABILITY AND

Buddha’s  teachings  were compiled as

Tipitaka — literally meaning three baskets to
hold different types of texts. Which of the
following  texts is/are correctly = matched
according to the subject matter ?

1. Vinaya Pitaka : Buddha’s teachings

2. Sutta Pitaka Rules and regulations

of the monastic order

3. Abhidhamma
Pitaka

Philosophical matters

Select the correct answer using the code given
below :

(@ 3only

(b) 1 and 2 only
) 2 and 3 only
(d) 1,2 and 3

Gandhiji’s' ideology, best articulated in his
seminal work, “Hind Swaraj” written in 1909,

expounds that

1. ancient Indian civilization had immense
assimilative power of absorbing
foreigners who made India their home.

2. industrial capitalism had a detrimental
impact on human civilization.

3.  Parliamentary
reflect the general will of the people, but
of the political parties.

Which of the above statements is/are correct ?

Select the correct answer using the code given
below :

(a) 1lonly

(b) 1land2only
() 1,2and 3
(d) 3only

Democracy did not

(2-A)

INTELLIGENCE

Which of the following was/were not the
feature(s) of the Swadeshi Movement in
Bengal (1905 - 1908)?

1. Swadeshi was based on the idea of
self-help through industries and schools.

2. Tagore had sketched out his blue-print
for swadeshi in Swadeshi Samaj.

3. Leaders like Aurobindo called for more
radical measures to achieve Swadeshi
goals.

4. Bhagat Singh joined the Swadeshi
Movement in its later phases.

Select the correct answer using the code given
below :

(@ 1, 2 and 3 only
(b) 2 and 3 only
(c) 3 and 4 only
(d) 1 only

Which of the following statements about

Dayananda Saraswati (1824 - 1883) is/are

correct ?

1. He was from present-day Rajasthan.

2. He found many followers from amongst
the trading castes.

3. He founded the Arya Samaj inspired by
the Brahmo Samaj.

4. He advocated Sanskrit based education.

Select the correct answer using the code given

below :

(@ 1,2and4only

() 1,3 and 4 only
(c) 2 and 4 only
(d  2only

Name the British liberal who was associated
with the Manchester School that was critical
of the British rule in India,

(a) J,S.Mill

(b)  Lord Ripon

(c) Fitzjames Stephen
(d)  John Bright
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Name the Indian financier who funded the 10.

building of the Bombay University clock
tower.

(a) Cowasjee Jehangir Readymoney
(b) Premchand Roychand

(c) Jamshet;ji Tata

(d)  H. St. Clair Wilkins

The painter Mola Ram was associated with
which one of the following styles of paintings ?

(a) Bundi Paintings
(b) Garhwal Paintings
(0 Mewar Paintings
(d) Kangra Paintings

Which of the following statements about
Kautilya’s Arthashastrais/are correct ?

1. It is the first Indian text to describe a

State.
2. It does not contain any reference to the
Maury as.
3. It is a theoretical text. 11.

Select the correct answer using the code given
below :

(a) 1lonly

() 1land3 only

(© 2and3 only

d) 1,2 and 3

Which of the following statements about the 12.

founding of the Indian National Congress

is/are correct ?

1. It was supported by A.O. Hume who
was a political liberal.

2. It was based on similar associations in
South-East Asia.

3. It was initially supported by Indian
elites who had access toWestern

education and English.

Select the correct answer using the code given
below :

(@ lonly
(b) 2 only
(¢ 2and 3only
(d) 1and 3 only

(4-A)

Which of the following statements about the

Ashokan pillars is/are not correct ?

1. The 14"* century Tarikh-i-Firuz Shahi
makes reference to the Ashokan pillars.

2. The writer Shams Siraj Afif gives an
account of the Ashokan pillars known as
Delhi-Topra and Delhi-Meerut,

3. There are instances of the Ashokan

their

worshipped as Shiv Lingas.

pillars  or fragments  being
4. The Ashokan pillars were produced in
gold, iron and bronze.

Select the correct answer using the code given

below :

(a) 1lonly

() 2 only

(¢ 2,3and4only
(d) 4 only

Which one of the following is the largest
component of the soil system ?

(a) Living organisms

(b) Mineral matters

(¢)  Soil solution

(d) Soil organic matter

Which of the following is/are the objective(s)
of the Rashtriya Uchchatar Shiksha Abhiyan
(RUSA) ?

1 It creates an enabling atmosphere in
the higher educational institutions and
ensures capacity building at all levels of
employment.

2. It ensures reforms in the affiliation,
academic and examination systems.

Select the correct answer using the code given

below :
(@) 1lonly
(b) 2 only

(c) Both 1 and 2
(d)  Neither 1 nor 2
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19.  Which one of the following countries is known
as the “Land of a Thousand Lakes” ?

(2)
(b)
()
(d)

Denmark
Finland

The Netherlands
Poland

20. The Central Potato Research Institute is

located at

(a) Almora

(b)  Shimla

(©) Noida

(d)  Murshidabad

21. Kingdom Monera includes'

(@)
(b)
(©
(d)

Euglenoids and Protozoans
Archaebacteria and Eubacteria
Fungi and Phycomycetes

Basidiomycetes and Deuteromycetes

22. Binomial nomenclature means

(@)

(b)

©

(d)

Biological names are generally in Latin
and written in italics. The first word is
the genus and the second word is the
species.

Biological names are generally taken
from father and mother.

Biological name originates from order
and genus.

Biological name originates from phylum

and genus.

23. In dialysis for kidney failure patients, the

dialysing fluid is iso-osmotic to

(@)
(b)
©
(d)

LSP-U-FTS

Blood
Urine
Water
Body fluid

24.

25.

26.

27.

8- A)

Young children with vitamin D deficiency
have trouble in absorbing which of the

following minerals ?

(a) Calcium and Phosphorus
(b)  Iron and Sodium

(c) Sodium and Potassium

(d) Zinc and Iron

The X-chromosome linked colour blindness
affects the ability to detect the difference
between which of the following lights ?

(a) Green light and red light
(b) Yellow light and blue light
(¢) Bluelight and violet light
(d) Yellow light and red light

Which of the following statements about a

body under equilibrium is/are correct

1.  No forces are acting.

2. A number of parallel forces
acting.
3. The law of moments must apply.

Select the correct answer using the code given

below ;

(@ 1,2and 3
() 2 and 3 only
(0 1land 3 only
(d) 2only

Which one of the following determines the

direction of induced current ?
(a) Fleming’s left hand rule
(b) Fleming’s right hand rule
(¢) Fe3Himan’s left hand rule
(d) Right hand thumb rule
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28.

29.

30.

LSP-U-FTS

Which one of the following 31.

statements about
the Principle of Calorimetry is correct ?

(a) Itis always valid.

Ot is

constant.

valid when temperature is

© It 1s valid only when there is no change

of state.

(d) It is valid only under equilibrium 32.
condition.

Which of the following statements regarding
temperature of an object in Kelvin scale is/are

correct ?

1. It can be a negative, zero or positive 33.

quantity.

2. It can either be a negative or a positive
quantity.

3. It can never be negative.

4. It can be a positive definite quantity.

Select the correct answer using the code given a4

below :
@ land 2 only
(b) 2 and 4 only
©) 3 and 4 only
(d 4only
35.

Consider the following statement:

“When a body is in equilibrium, the sum of

the clockwise moments about any point equals
the sum of the anticlockwise moments about

the same point.”

Which one of the following laws is described 36.
in the above statement ?

(a) Law of motion

(b) Law of moments

(¢ Law of momentum

(d) Law of magnetism

(10-A )

An acid solution of pH equal to three is
gradually diluted with water. As a result of

this dilution, the pH of the solution will
(@ reach near to zero.

(b) reach near to fourteen.

() reach near to seven.

(d)  remain unchanged.

Which one of the following gases is not
responsible for global warming ?

(a) Water vapour

(b) Chlorofluorocarbons
() Nitrogen

(d) Methane

Which one of the following is an eco-friendly
solvent ?

(@ Liquid ammonia
(b) Carbon disulphide
(©) Benzene

(d  Water

Graphite is a good conductor of electricity. It
is because of its

(a) linear structure
(b)  tetrahedral structure
(©) triangular planar structure

(d)  hexagonal multilayer structure

Which one of the following elements has the
oxidation state as +7 ?

(a) Nitrogen
(b)  Phosphorus
(¢ Manganese

(d) Magnesium

What is the greatest number less than 1000
which when divided respectively by 5, 7 and 9
leaves the remainders 3, 5 and 7 respectively ?

() 943
®) 963
© 953
@ 989
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37. Consider the following sequence : 4.
5,7,10,15,22,33,46, _,
Which one of the alternatives will come at the
end of the above sequence ?
(@ 61,79
(b) 63,82
(©) 65,85
d 59,71 L2 .
B2 While coming down on an escalator of a
station, when a man walks down twenty-six
steps of the staircase, he requires thirty
seconds to reach the bottom. However, if he
steps down thirty-four steps, it takes eighteen
seconds to reach the bottom. How many steps
are there in the escalator ?
(a) 42 43.
(b) 44
(c) 46
(d 48
Bl dog wants to catch a cat that 1is
A
twenty-seven steps ahead of him. The cat
takes eight steps to every five steps taken by
the dog. Two steps of the dog are equal to five 44.
steps of the cat. How many steps of the dog
will be required to catch the cat ?
(a) 28
(b) 30
(c) 48
@ 75
40 . Ifthe first day of a year (other than the leap
year) was Friday, then which one of the 5}
following was the last day of that year ?
(a) Monday
(b) Friday
(¢ Saturday
(d) Sunday
LSP-U-FTS (12-A)

The diffierence of squares of two
consecutive odd numbers is always

(a) divisible by 8
(b) divisible by 3
(c) divisible by 16
(d) None of the above

In a bag, there are notes of ~ 10, * 20 and

~ 50 in the ratio of 1 : 2 ; 3. If the total money
is ~ 1,000, how many notes of ~ 10 are

there ?

(a) 5
(b) 10
() 15
d 30

* How many times in a day are the hour hand

and the minute hand of a wall clock straight
(i.e., the angle between them is 180°) ?

(a 20

) 21
() 22
d 24

Delhi is bigger than Pune, Kanpur is bigger
than Raipur. Jhansi is not as big as Pune, but
is bigger than Kanpur. Which one of the
following is the smallest city ?

(@ Delhi
(b) Pune
(¢ Kanpur
(d) Raipur

Find the odd one out of the following items :
EF22, JK42, GH24, VW90, 1J38

(a) EF22
() GH24
(¢ 1J38
(d VW90
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46 Find the 50.
missing letter.
D H E
(@ A
(b) D
(c) 0]
(d N
47. 25 writers, 20 doctors, 18 dentists and
12 bank employees spent altogether * 1,330 51.
in a hotel. However, it was found that
5 writers spent as much as 4 doctors, that
12 doctors spent as much as 9 dentists, and
that 6 dentists spent as much as 8 bank
employees. Out of the four professional
groups, which group spent the maximum
amount ?
(a) Bank employees 52.
(b)  Dentists
(¢)  Doctors
(d) Writers
48. Which among the following countries in not a
founder member of Shanghai Cooperation
Organization ?
(a) Kazakhstan
() Kyrgyzstan
(0 Tajikistan
(d) Afghanistan
49.  Which one among the following is responsible
for the command, control and operational
decisions of nuclear weapons in India ? 53.
(@) Nuclear Commission of India
(b)  Nuclear Command Authority
()  The Ministry of Defence
(d) The Cabinet Committee on Security
LSP-U-FTS (14-A)

Which one of the following statements about

the Directive Principles of State Policy is not

correct ?

(a) The Directive
certain ideals for social justice.

Principles  constitute

(b) The Directive  Principles are not
confined to Part IV of the Constitution
of India.

(¢ The sanctionbehind the Directive
Principles is legal.

(d It aims to fulfil the objective of

soclo-economic j ustice.

In December 2017, India signed a financing
agreement for an IBRD loan of USD 250
million (equivalent) for which one of the
following projects ?

(a) DDU-GKY
() DISHA
¢ SANKALP

d) SWACHHGRAM

Which of the following statements is/are
correct about the UN Human Rights Council ?
1. It was established in the year 2006.

2. The Council is made up of 47 Member
States.

3. The United States of America was
elected to the UN Human Rights
Council in the year 2006.

4, Members of the Council serve for a
period of five years.

Select the correct answer using the code given
below :

(@ 1land2 only
() 2only

(0 3 and4only
d 1,2and3only

“One Vision, One Identity, One Community”

is the motto of

(1) SAARC
(®) ASEAN
©  SCO
@ OAS
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54.  Which one of the following is not correct 58,
regarding India’s  position in  Regional
Organizations/Institutions ?

(a) Shanghai  Cooperation Organization
(SCO) — Founder Member

(b)  Asia-Pacific Economic Cooperation
(APEC) - Observer Member

© East Asia Summit (EAS) - Member

(d)  Asian Infrastructure Investment Bank
(AIIB) — Founder Member 59,

55.  Which one of the following Articles of the
Constitution of India is related to the Address
of the President at the commencement of the
first session of the Parliament each year ?

(a)  Article 84
(b)  Article 85
(c) Article 87
(d)  Article 97

56.  Which one of the following Amendments to
the Constitution of India made it mandatory
to conduct periodic elections to the Local
Government Bodies ?

(@ 72nd
0 737
(0 64th
(d 63"~ 60.

57.  Which one of the following Committees has
recommended the inclusion of Fundamental
Duties in the Constitution under the 422/
Amendment Act of 1976 ?

(@) Jagjivan Ram Committee
(b) Swaran Singh Committee
(¢)  V.V.Giri Commitee
(d) B.D. Jatti Committee
LSP-U-FTS (16-A)

Who among the following certifies a bill as a
Money Bill ?

(a) The Chairman of the Council of States
(b)  The Speaker of the House of the People
(c) The Finance Minister

(d)  The President

Which of the following statements about the

Writ of Mandamus is/are correct ?

1. Mandamus lies  ‘against
Government.

2. . Mandamus lies against inferior
Courts and Tribunals.

3. Mandamus lies against individuals in

cases where a public duty is imposed on
them.

Select the correct answer using the code’ given
below :

(a) 1,2and 3
(b) 2and 3only

(c) 1and 3 only

(d) 2only

Which one of the following Articles of the
Constitution of India provides that the State
shall not deny to any person equality before
the law or the equal protection of the laws

within the territory of India ?
(a) Article 14
(b) Article 12
(¢) Article 13

@) Article 15
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61.  Which one of the following statements about 64.
the judgement in the D.K. Basu v. State of

West Bengal case (Supreme Court, 1997) is

not correct ?

(a) A person arrested must be made aware
of the right to have someone informed of
his arrest or detention as soon as he is
put under arrest or is detained.

(b) It provided for compensation in the case
of  displacement from land in g5,
Government projects.

(c) The arrestee may be permitted to meet
his lawyer during interrogation, though
not throughout the interrogation.

(d) It emerged out of a Public Interest
Litigation.

62.  Which of the following statements regarding

the election of the President and the Vice

President of India is/are correct ?

1. The President of India is elected by an
electoral  college consisting of the
Members of both the Houses of
Parliament and the elected Members of
State  Legislative Assemblies and 66.
Councils.

2. The Vice President of India is elected by
an electoral college consisting of the
Members of both the Houses of
Parliament.

Select the correct answer using the code given

below :

(@ lonly

(b) 2only

@) Both 1 and 2

(d)  Neither 1 nor 2 67.

63. Who among the following footballers was

honoured with the Ballon d’Or Award, 2017 ?

(a) Lionel Messi

(b) Cristiano Ronaldo

(c) Ronaldinho

(d) Neymar

LSP-U-FTS (18-A)

The first International Conference on Sports

Medicine and Sports Sciences (SAICON 2017)
was held recently in

(@ Kolkata

(b) Chennai
(c) m Hyderabad
(d)  New Delhi

Which of the following is/are listed as

Intangible Cultural Heritage of Humanity by
UNESCO ?

1. Yoga
2. Nawrouz
3. Kumbh Mela

Select the correct answer using the code given
below :

(a) 1,2and 3
(b) 1land2only
() 2and 3only
(d) 1lonly

In December 2017, India was admitted as a
member of Wassenaar Arrangement, an elite
arms export control regime, similar to NSG

and MTCR. Which one of the following is not

a member of the Wassenaar Arrangement ?

(a) USA

(b)  Australia
(©) China

(d) Italy

Which one of the following is the theme of
International Anti-Corruption Day, 2017 ?
(a)  United

development, peace and security

against corruption for

(b) Break the corruption chain
(¢©)  Zero corruption — 100% development

(d) Corruption — your NO counts

Previous Pathshala




Previous Pathshala




68  Who among the following was chosen for the 79.
literary award Vyas Samman for the year

2017 ?

(a) Surinder Verma

(b) Mamta Kalia

()  Sunita Jain

(d) Kamal Kishore Goenka

. According to the National

Trachoma Survey Report (2014 — 17), India

is now free from infective trachoma.

Trachoma is a chronic infective disease of 73.

(a) Nose

(b) Heart

() Ear

(d) Eye

Who among the following is the winner of

Nobel Peace Prize for the year 2017 ?

(a) Juan Manuel Santos

(b) International = Campaign to Abolish
Nuclear Weapons (ICAN)

(©) Organization for the Prohibition of
Chemical Weapons

(d)  Tunisian National Dialogue Quartet 74.

Which of the following statements about

LaQshya —a Labour Room Quality

Improvement Initiative, launched recently by

the Ministry of Health and Family Welfare,

is/are correct ?

1. The initiative plans to conduct quality
certification of labour rooms and also to
incentivize  facilities achieving the
targets outlined.

2. The goal of this initiative is to reduce
preventable maternal and new-born
mortality, morbidity and stillbirths
associated with the care around delivery
in Labour Room and Maternity OT.

Select the correct answer using the code given

below :

(a) 1lonly

() 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

LSP-U-FTS (20-A )

The Counter Insurgency and Jungle Warfare
School of the Indian Army is located at

(a)  Wellington

(b)  Dehradun

(c) Vairengte

(d)  Gulmarg

Submarine INS  Kalvari which
commissioned into the Indian Navyin

December 2017 was built with technological

collaboration with

(@) Russia
(b)  Japan
(¢  France
@ USA

Sri Lanka has recently handed over its
southern strategic port Hambantota on a
99-year lease to which one of the following

countries ?

(a) India

(b)  China

(c) Pakistan
(d USA

Heena Sidhu is associated with which one of

the following sports ?

(a) Badminton
(b)  Wrestling
(c) Shooting
(d)  Archery
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PARTB
PROFESSIONAL SKILLS

76, The Central Industrial Security Force was 79.
constituted

(a) under an Act of the Parliament.

(b) as per a resolution of the Cabinet.

(c) as per an executive order issued by the
Ministry of Defence.

(d) . as per an executive order issued by the
Ministry of Home Affairs.

77. The Director General of the Central

Industrial Security Force is appointed by the

(@)  Bureau of Public Enterprises

(b)  National Security Council Secretariat

(©) Central Government

(d) Cabinet Committee on Security 30

78.  Which of the following fall/s within the scope

of technical consultancy services rendered by

the Central Industrial Security Force ?

(a) Studsring the industrial security and fire
protection related  problems and
suggesting appropriate solutions

. (b) Preparing disaster management and 81.
contingency plan and conducting
rehearsals for such plans

(¢ Planning and designing of
communication networks and
preparation . of related operations
instructions

(d)  All of the above

LSP-U-FTS (22- A

Which one of the following is in accordance
with the procedure prescribed in the Central
Industrial Security Force Act, 1968 in relation
to an arrest made by any member of the
Force ?

(a)  Keep the arrested person in custody
for not more than 48 hours for
interrogation and release him/her if,
prima facie, no criminal case is made
out against the detainee

(b)  Lodge a First Information Report with
the local police if, prima facie, a
criminal case is made out against the
arrested person

() Hand over the arrested person to the
Chief Security Officer of the industrial
establishment concerned for such action
as deemed fit

(d) Hand over the arrested person to a
Police Officer or have him/her taken to
the nearest police station without any
unnecessary delay

For disciplinary proceedings, the supervisory
officers of the Central Industrial Security

Force are governed by which of the
following ?
(a) National Security Act
(b) Central Civil Services (Conduct) Rules
(c) Rules applicable to the officers of
the  Central Government of the

corresponding class

(d) Indian Penal Code

A person who for any reason ceases to be a
member of the Central Industrial Security
Force does not have to surrender which one of
the following items ?

(a)  The certificate of appointment

(b)  Arms issued to him/her

(c) Clothing issued to him/her while in
service

(d)  Any appreciation letter issued to him
during his service
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82.. Which one of the following is not correctin 84
relation to the penalty for neglect of duty

prescribed in the Central Industrial Security

Force Act ?

(a) A member of the Force convicted of
neglect of duty cannot be punished with
imprisonment.

* () The offence of neglect of duty
is cognizable and non-bailable,
notwithstanding anything contained in
the Code of Criminal Procedure, 1973.

(©) The Central Government may invest
the Commandant with the powers of a
Magistrate for trying the offence of
neglect of duty.

(d)  There is no absolute bar on an offence
punishable under the Act to be tried by
an ordinary criminal court.

83. If, during the probation period of a

member of

the Central Industrial Security Force, the 85.

appointing authority is of the opinion that the

member is not fit for permanent appointment,
which one of the following actions cannot be
taken by the appointing authority ?

(a) The appointing authority may
terminate his/her services after giving
one month’s notice.

() The appointing authority may
terminate his/her services with
immediate effect but after giving three 36
months’ pay in lieu of the aforesaid

' notice.

(c) The appointing authority may revert
him/her to the rank from which he/she
was promoted.

(d) The appointing authority may
repatriate him/her to his/her parent
department, as the case may be.

LSP-U-FTS (24-A)

Which one of the following is not correct in
relation to an order of suspension of an
enrolled member of the Central Industrial
Security Force ?

(a) Anenrolled member of the Force is
deemed to have been placed under
suspension by order of
appointing authority with effect from
the date of detention if he/she is

detained in custody, whether on a

an the

criminal charge or otherwise, for a
period exceeding 48 hours.

(b)

An order of suspension made or deemed
to have been made continues to remain
in force until it is modified or revoked
by the authority competent to do so.

An order of suspension made or deemed
to have been made can be modified or
revoked at any time by any authority to
which the authority who had issued the
order of suspension is subordinate.

©

An enrolled member cannot be kept
more

(d)

under suspension for than

180 days.

Which one of the following is not one of the

minor penalties prescribed in the Central
Industrial Security Force Rules, 2001 ?

(a) Withholding of promotion

(b)  Removal from service which shall not be
a disqualification for future employment
under the Government

() Withholding of increment of pay

(d) Fine of an amount not exceeding seven

days’ pay

On which one of the following grounds can
monetary rewards not be granted as per the
provisions of the Central Industrial Security

Force Rules, 2001 ?

(a)  Arrest of a criminal

(b) Making exceptionally good enquiries
(¢) Doing general good work

(d) Doing extra hard work in connection

with the protection, safeguard and

security of an industrial undertaking
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87.. What intervention plan is activated by a
competent authority to counter the possible
consequences  arising from communicated
threat or discovery of an explosive device at
an airport ?

(@) High alert

(b)  Bomb threat contingency plan
(©) Counter terror contingency plan
(d) Redalert

88. While establishing an observation post,
several precautions are taken. Which one of R .
the following i® not one of them ?

(a) Select a place from where you can see
everjrthing without being seen yourself

(b)  The observation post should be lower
than the area that is to be observed

(¢ The observation post should be at a
point where it can be reached easily and
from where you can move out quickly

(d)  The observation post should be far from
the skyline

89.  Which of the following is/are the duty/duties
of the ROP ?

(a) To secure the road route from ambush

(b) To secure the road route from land
mines and IEDs

(c) To keep the route secure till the convoy
has passed completely

(d) All of the above

90. Which one of the following is not necessary

for perimeter security ?
@ CCTV
(b) Water moat
() Alarm system
(d) Lighting
LSP-U-FTS (26-A)

B

Which one of

the following should not be used

as first aid to stop bleeding of the injured
VIP?

(a) Direct pressure
(b)  Elevation used with Direct Pressure

(¢)  Pressure bandages

@) Tnject

immediately

Morphine to  ease pain

You have to establish a CISF post in one of

the mines areas where the CISF is deployed.
Several things have to be kept in mind in the
process. Which one of the followingis  not one

of them ?

(a)  The post should be on dominating
ground from where there is a good line

of fire

(b)  The post should be at a place where

commimication and road link is good

(c) The post should be at a place where

water is available close by

(d)  The post should be visible to all

As a commandant, which of the following
has/have to be told to the convoy which is

going from one area to another ?

(a) Brief the men about the condition of the

road

(b) If ROP has been deployed, then the
convoy in-charge should be briefed

about its position

(¢c) Possible ambush sites and dangerous

areas should be identified

(d) All of the above
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94, Which one of the following organizations has 98.  Which one of the followingis  not a component
been designated as the Counter Hijack Task of bomb detection and disposal equipment ?
Force by the Government of India ? (@  Bomb blanket
(@)  BCAS (b)  Electronic stethoscope
(b)  CISF () Bomb disposal suit
(0 NSG (d Handheld weapon
d  SPG
99. Which of the following agencies can carry out
95. What is a fire door ? search of the aircraft during specific bomb
threat call ?
(@  Adoor designated for entry of firemen o ) o )
into a building for fire-fighting and (a) Airlines security / Airlines engineers
. only
evacuation
®) Rear door of a fire tender for quick (b)  Airlines security / Airlines  engineer/
. BDDS/ASG/DGCA
debussing by firemen
Airli ity / Airli i /
(©) A highly fire resistant door system that © e sectnty [AITNes - ehgineer
; . . BDDS / Dog squad
provides a degree of fire protection
when closed (d) Airlines security / Airlines  engineer /
BDDS only
(d) None of the above
100. Wh the following i ible fi
96.  What is the full form of X-BIS ? 0 AMORg The ToTOWIRg 18 responsibie for
pre-flight anti-sabotage check of an aircraft ?
X-ray B I tion Syst
(@) ray Baggage Inspection System @ ASG
(b) X-ray Baggage Imaging System ) Airlines security
(¢ X-ray Based Imaging System © BDDS
(d) X-ray Baggage Identifying System ()  Crew of the airlines
97.  Access ) .clontrol of the Aircraft is the 101. Who among the following is responsible for
responsibility of guarding the aircraft hangar ?
(@ ASG (a) Airport security
(b)  Local police (b) Airport operator
(c)  Aircraft operator (¢)  Aircraft operator
(d) Airport security (d) ASG
LSP-U-FTS (28-A )
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98. fAHIdf*d ~ A+ AAWWTT* *
3rfAN A-Fferd 617-~ch 3 A fAr.dKul (1%F7%) <}qch<u| » 3STARR
ALY Y%AAAWTWE? A9
(a) BCAS (@ ~ {- ~ ®rf%3)
(b) CISF (b)
A A
© NSG ()
@ SPG (d) 3TT5"
99. A AAZTTA A irr*
95, gk A w t? fARfAd A A cii*AH A
A A A A
(a) A %31~ STIRWT W % <sn’din 2
#ni *m<An % A ATTFtRT A (a) XTATTdIN
(b) 4>H<Ah % drcbid 3cR ~ (b) TTAdINH /TTARAI"H
. 3TMWT WT A / BDDS / ASG / DGCA
«| || © ilfif» / BDDS /
A (:gFT
(c) A 37fqrd”r » A A A
fA A cT* 37fjq 314 I (d) TTWn»
/ BDDS
@)
100. fAHf*n"d AA
96. X-BIS~ A~ Wt? A% fA B t1<<|4t1?
(@ W-» (a) ASG
(b) (b)
(0 WArn (¢ BDDS
@ (d M.A<dl"H % ~Tffer'd
97 A 31A FAnGh] ApfA £ 2 101. [ HHIdRdd ~ ~ fA{TRWn ~ £4)K141
1*Achl <|Rlre| t ?
@ ASG () fATTH
b) () f*TTR (WA )
© 3 1~ ) () HRAId4>
(d) (d) ASG
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102.

103.

. First Aid Fire Extinguishers are known
as

(a) Fire tenders
(b)  Foam tenders

(c) Portable fire extinguishers

(d) DCP tenders

Which  of the

following are the main

components of an 1IED ?

(a) Weapons, explosives, dangerous
articles, dangerous substances

(b) Ignition, incendiary material
mechanism

(c) Explosives, switch mechanism  and
battery / power source

(d) Explosives, detonator, switch

mechanism and battery / power source

104. Which one of the following is the first duty of

a police officer at a scene of crime ?
(a) To preserve the scene of crime
(b) Photograph the scene of crime
(¢) Start collecting physical evidence

(d) Make a sketch of the scene of crime

105. When was the CISF inducted at airports ?

@ 1999
®) 2001
© 2002
@ 2000
LSP-U-FTS

106 .

107.

108.

(30-A )

Any book or newspaper or document can be
forfeited and seized by an order of the State
Government under Section 95 of the Code of
1973, if the

contains any matter, the publication of which

Criminal  Procedure, same

is punishable under Sections
(a) 124A, 122, 292 and 354A of the IPC

(b) 124A, 153A, 153B, 292, 293 and 295A of
the IPC

(© 124A, 153B, 509, 376 and 377 of the IPC

(d) 124A, 153A, 153B, 354 and 509 of the
IPC

If, during dispersal of an unlawful assembly,
an army officer, commanded to disperse it,
exceeds his power which had resulted into the

death of four women and three children, that

army officer can be prosecuted with the

sanction of

(a) his Commanding Officer
(b) the District Magistrate
(c) the Central Government

(d) the concerned State Government

‘A’ kills the hen of ‘B’. The value of the hen is
above two hundred fifty rupees. What is the

offence committed by ‘A’ ?

(a) No offence under the IPC

(b)  Mischief under Section 429 of the IPC
(c) Misappropriation of property

(d)  Trespass of the property of B’
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109. In which one of the following cases is the

offence of criminal breach of trust

committed ?

(@)

(b)

©(©

(d)

‘A’, the delivery boy of ‘B’ (‘B’ is an
online retailer), does not deliver the

package of mobile phone and uses it
himself

A postman does not deliver the money

order and misappropriates the money

‘A’ finds a ring near the shop of a

jeweller and gives it to his wife

‘A’, an employee of the Employees’ State
Insurance Corporation, does not deposit
the contribution of an employee and

misappropriates it

110. The question is whether ‘A’ stole the Laptop of

‘B’. Which one of the following is not relevant
as per the Indian Evidence Act, 1872 ?

(a) ‘A’knows how to operate the Laptop
(b) ‘A’ sold the same Laptop to his friend
(¢ Only ‘A’ was authorized to use his
Laptop by using his finger impressions
(d) ‘A’ had the key of ‘B’s room
111. How much information received fi"'om an

accused may be proved when the accused is in

police custody ?

(a)
(b)

©

@)

LSP-U-FTS

All relevant information
His confession to commit the crime

Information distinctly relates to the

discovery of something

None, because he is in police custody

(32-A)

not

112. As per the provisions of the Indian Evidence
Act, 1872, if a contract is contained in several

letters, what must be proved ?

(a)  Any one letter in which the contract is

contained must be proved

(b)  Any letter which has the conclusion of

the letter must be proved

(¢)  All the letters in which the contract is

contained must be proved

(d)  Only that letter of contract must be
proved which has the disputed portion

13 . ‘A’is charged with travelling on a train
without a ticket. As per the Indian Evidence
Act, 1872, who among the following has to
prove that he had a ticket ?

(a) ‘A’ has to prove it

(b)  Guilt is always to be proved by the

prosecution
(¢ The Court will decide it

(d) Itis proved the moment ‘A’ is caught
without ticket

114 Notice with respect to any change which
affects the conditions of service applicable to

any workman in respect of any matter

specified in the IV~A" Schedule of the

Industrial Disputes Act, 1947, shall not be
effected within

(@ 21days

(b) 60 days

() 90 days

(d  30days
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115 . Who among the following is not an employee 118.
under Section 2 (F) ofthe Employees’
Provident Fund and Miscellaneous Provisions
Act, 1952 ?

(a) Any person employed for wages in any
kind of work, manual or otherwise

(b)  Any person who gets his salary directly
or indirectly from the employer

(©  Any person employed by or through a
contractor for his work

(d) Any person engaged as an apprentice,
not being an apprentice engaged under
the Apprentices Act, 1961 119.

116  Under the Employees’ Provident Fund and
Miscellaneous Provisions Act, 1952, which of
the following is the appropriate Government
for the employees of an establishment having
branches in more than one State ?

(@) The State Government where the
dispute has arisen

(b) The Central Government

(0 Asdecided by the Central Government

(d) The State Government, where the head
office of the establishment is situated 120.

117. . Which one of the following  statements
about layoff as stated in Chapter V B of the
Industrial Disputes Act, 19471is  not correct ?
(@ This is applicable to  industrial

establishments employing not less than
100 workmen on an average per
working day for the preceding
12 months,

(b)  Prior permission of the appropriate
Government or specified authority is
necessary before layoff.

(¢ The compensation for layoff is twice the
compensation as in Chapter V A.

d) If the Government does not respond
within 60 days of receiving the
application for permission to layoff, the
permission shall be deemed to have
been granted.

LSP-U-FTS 34-A)

‘A’ cuts down a tree on ‘B’s land with the
intention of dishonestly taking the tree out of
‘B’s possession without ‘B’s consent. What
offence is committed by ‘A’ ?

(a) No offence until the tree is taken away
(b) The offence of mischief
(©)  The offence of breach of trust

(d) The offence of theft as soon as the tree

is severed

Under the Central Vigilance Commission Act,
2003, what is the maximum number of
persons constituting the Central Vigilance
Commission including the Chairperson ?

@ Two
() Three
© Four
(d Five

Which one of the following statements is not
correct ?
(a) The Industrial Tribunal constituted

under the Industrial Disputes Act, 1947,
exercises powers under the Employees’
Fund
Provisions Act, 1952.

Provident and Miscellaneous

(b) The members of the Industrial Tribunal
hold office for a maximum period of five

years.
(0  The Chairperson and members of the

Industrial Tribunal cannot hold office

after 65 years of age.

(d)  The presiding officer of the Industrial

Tribunal must be an independent

person.
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. In which one of the following cases had the
Supreme Court directed an authority to
provide drainage system for removal of a
public nuisance under Section 133 of the Code
of Criminal Procedure, 1973 ?

(a) M.C. Mehta v. Union of India, 1986

(b) Municipal Council, Ratlamv. Shri

Vardhichand & Others, 1980

125.

(¢) M.C. Mehta v. Kamal Nath, 2000

(d) Indian Council for Enviro-Legal Action
V. Union of India, 1996

. Under the Indian Evidence Act, 1872, a
witness summoned by a Court of Law to
produce a document which is in his possession

has to do which one of the following ?

(@  Shall
notwithstanding any objection

bring it  to the Court

126.

(b)  May refuse to bring it in the interest of
national security

(¢ May refuse to bring it on the ground of
confidentiality

(d)  Shall produce before the Court only if
there is no objection

. ‘A’ was at work with a hatchet with full
precautions. While working, the head of the
hatchet flies off and kills a man who was
standing nearby. ‘A’ has committed no crime
under which one of the following Sections of
the Indian Penal Code, 1860 ?

(a)  Section 80

(b)  Section 81
(¢)  Section 86

(d)  Section 89

LSP-U-FTS

(36-A )

124.

127.

Which one of the following offences under the
Indian Penal Code, 1860, is cognizable and
non-bailable ?

(a) Sedition

(b)  Joining an unlawful assembly armed
with a gun

(c) Rioting with a deadly weapon
(d) Bribery

‘A’ with the intention of murdering 7,
instigates ‘B’, a child under seven years of
age, to do an act which causes Z’s death. ‘B’ in
consequence of the abetment, does the act in
the absence of ‘A’ and thereby causes Z’s
death. Here ‘A’ is liable under which one of
the following Sections of the Indian Penal
Code, 1860 ?

(a) Section 109
(b)  Section 115
(¢  Section 120
(d)  Section 302

The term ‘workman’ under the Workmen’s
Compensation Act, 1923, includes who among
the following persons ?

(a) A person whose employment is of a
casual nature

(b) A person employed as a personal cook
by the Managing Director of a company

(¢) A person employed for repairing an
article in any premises
15 persons are employed

wherein

(d) The Captain of an aircraft

The Code of Criminal Procedure, 1973, does
not expressly provide for which one of the
following ?

(a) Identification of an arrested person

(b) Detention of an arrested person beyond

24 hours with an order of the
Magistrate

(¢) Health of an arrested person

(d Bail to a person arrested under

Preventive Detention Law
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128. Which one of the following offences under 131. Which of the following unit(s) is/are part(s) of

the Indian Penal Code, 1860, is not a CPU?
compoundable by the parties in terms of (8 ALU
Section 320(1) of the Code of Criminal (b)  Control Unit

Procedure, 1973 ? (¢ Memory Unit

(@  Voluntarily causing grievous hurt on (d) ALU, Control Unit and Memory Unit

grave and sudden provocation 132. Which one of the following is the full form of

(b)  Adultery ASCII code which is generally used in the

. computer system ?
(©) Cheating
(a) American Standard Code for

(d)  Voluntarily causing grievous hurt and Information Interchange

miscarriage .
(b)  American Standard Code for Internet
Interchange
129 . The process by which a third party persuades (©  Australian Standard Code for
and facilitates the disputants for mediating Information Interchange
and promoting the settlement of an industrial (d)  Australian Standard Code for Internet
dispute is called Interchange
(a) Conciliation 133. The term that refers to a set of programmes
. . and instructions that helps the computer in
(b)  Arbitration P P

carrying out the processing is

(c) Collective Bargaining (@) Hardware

(d  Compulsory Adjudication (b)  Software
(© Storage

. . L. (d)  Input/Output
130. . In which one of the following- cases is it

mandatory for the appropriate Government to 134. One Terabyte (TB) of memory storage is equal
make reference of an industrial dispute for to
adjudication/settlement to the Industrial (a) 1024 Gigabytes

Tribunal/Labour Court/Arbitration ? (b) 1024 Megabytes
(a) A dispute regarding compensatory © 1024 Kilob 3iizes
allowance in respect of 50 workmen (d) 1024 Petabytes

(b) A dispute relating to rules of discipline
135. Which one of the following communication

in the organization emplo}dng i ) i
media supports higher bandwidth ?

100 workmen
(a)  Coaxial cable

(b) Fibre optic cable
(c) CAT-S UTP cable
(d) Electrical cable

(©0  Anindustrial dispute involving any
question of national importance

(d)  Anindustrial dispute in a municipality

LSP-U-FTS (38-A )
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136. Which one of the following is

system ?

(@) UNIX

(b)  Microsoft Windows
(¢0 LINUX

(d)  Microsoft Access

137. ISO 27001 is a standard that relates to

(a) Information Security
(b) Quality Assurance
(©) Infrastructure Management

(d) Human Resource Management

138. Which one of the following is an optical

storage device ?
(a)  Floppy disk
(b) Hard disk
(¢ CD-ROM

(d) Magnetic tape

139. Which one of the following is the full form of
SWAYAM, a platform launched by the
Government of India to offer online courses ?
(@) Study Webs of Active-Learning for
Young Aspiring Minds

(b)  Secure Webs of Activity-Learning for
Young Aspiring Minds

©) Structured Webs of Active-Learning for
Young Aspiring Minds

d) Study Webs of Activity-Learning for
Young Aspiring Minds
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not anoperating ~ 140. Which one of the following is

(40-A)

not an output
device ?

(a)  Printer

(b)  Speaker

(c) Plotter

(d)  Optical Mouse

141. Which one of the following is not aweb

browser ?

(a) Internet Explorer
(b) Google Chrome

(¢) Microsoft Excel

(d)  Firefox

142. Android is a mobile 'operating system

developed by
(a)  Microsoft
()  Google
(¢ Oracle
(d)  Infosys

Which one of the following is the correct
sequence of the different states of a process in

process management function of an operating
system ?

(a) New, Ready, Waiting, Executing,
Terminating
(b) New, Waiting, Ready, Executing,

Terminating

(0 New, Waiting, Ready, Terminating,
Executing

(d) Ready, New,
Terminating

Waiting, Executing,
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144. Which one of the following is a computer 148. In computer security, which one of the
security device ? following means that the information in a
computer system can only be accessed by
(a) Modem

authenticated parties ?
(b)  Compiler

© Fi 1 (a)  Confidentiality
c irewa

(d) Interpreter ()  Integrity

(¢)  Availability

(d)  Reliability
145. Eavesdropping is a computer fraud technique

to

() listen to private voice or data 149. Compiler, Interpreter and Assembler Eire

transmission.
(a)  System software

(b)  prevent the system from processing or

responding to the legitimate users. (b)  Hardware
(©) disable the network connectivity. (0  Application software
(d) delete data. (d) None of the above

] o o 150. Consider the following statements about the
146. Which one of the following is a pointing

cache memory:

device ?
@ 5 1. It is a non-volatile memory.
a canner
2. It is a slow-read and inexpensive
(b) Optical Mouse memory.
© Printer 3. It is a fast-read and expensive memory.
-(d)  Keyboard 4. It is a small-sized memory.

Which of the above statements are correct ?

147. Which one of the following is not a database Select the correct answer using the codes

iven below :
management software ? g

(@) Oracle (a) 1 and 2 only

(b)  MySQL (b) 3and4only

(©) MS-Access (© 1and 3 only

(d  MS-Word (d 1,3 and4only
LSP-U-FTS (42-A)
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